

## Décompose les nombres suivants

$$2\,457 = (\dots\dots x \dots\dots) + (\dots\dots X \dots\dots) + (\dots\dots x \dots\dots) + (\dots\dots x \dots\dots)$$

$$457 = (\dots\dots X \dots\dots) + (\dots\dots x \dots\dots) + (\dots\dots x \dots\dots)$$

$$227 = (\dots\dots X \dots\dots) + (\dots\dots x \dots\dots) + (\dots\dots x \dots\dots)$$

$$5\,329 = (\dots\dots x \dots\dots) + (\dots\dots X \dots\dots) + (\dots\dots x \dots\dots) + (\dots\dots x \dots\dots)$$

$$3\,217 = (\dots\dots x \dots\dots) + (\dots\dots X \dots\dots) + (\dots\dots x \dots\dots) + (\dots\dots x \dots\dots)$$

$$2\,457 = (\dots\dots x \dots\dots) + (\dots\dots X \dots\dots) + (\dots\dots x \dots\dots) + (\dots\dots x \dots\dots)$$

## Recompose les nombres

$$(2 \times 100) + (2 \times 10) + (9 \times 1) = \dots\dots\dots$$

$$(2 \times 100) + (4 \times 10) + (4 \times 1) = \dots\dots\dots$$

$$(3 \times 100) + (2 \times 10) + (2 \times 1) = \dots\dots\dots$$

$$(2 \times 1\,000) + (2 \times 100) + (4 \times 10) + (4 \times 1) = \dots\dots\dots$$

$$(4 \times 1\,000) + (4 \times 100) + (5 \times 10) + (2 \times 1) = \dots\dots\dots$$

$$(7 \times 1\,000) + (5 \times 100) + (4 \times 10) + (3 \times 1) = \dots\dots\dots$$